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Guess Paper – 2008

Class – XII

Subject – Accountancy
Time Allowed - 3 Hrs. 













Max. Marks - 80

General Instructions :-
1. This question paper contains three parts A, B and C.

2. Part A is compulsory for all .

3. Attempt only one part of the remaining parts B and C.

4. All parts of questions should be attempted at one place.
Part A

(Accounting  for Not-for-Profit organizations, Partnership firms and Companies )
1. On 1st July 2005, A had advanced a loan of Rs 60,000 to the firm in which he is a partner.  The deed is not specific with regard to interest on loan.  Compute the amount of interest payable to him, if the books of accounts are closed on 31March 2006. 










[1]

2.  Find the amount of salary to be taken to income and expenditure account of Gymkhana club for the year 2006. Salary paid during 2006 amounted to Rs 56,000, which includes Rs 2,000 for 2005 and Rs 1,000 for 2007.  


















[1]

3. In what ratio the premium brought in by the new partner should be divided?   



[1]

4. What is meant by guarantee of profit?












[1]

5. State any one difference between ‘Bond’ and ‘Debenture’








[1]

6. Find the stock of medicines consumed for Lions Club Hospital for the year 2006 from the following:



















[3]
Stock of medicines as on 31/12/2005 – Rs 12,000

Stock of medicines as on 31/12/2006 – Rs 15,000

Creditors for medicines as on 31/12/2005 – Rs 9,000

Creditors for  medicines as on 31/12/2006 – Rs 10,000

Advance paid to creditors as on 31/12/2005  - Rs 6,000

Cash paid to creditors during 2006 - Rs 67,000












7. What are the conditions under which shares can be issued at discount?





[3]

8.   AB. Ltd. purchased building costing Rs. 70,00,000 from M/s C Ltd. The company paid Rs. 20,50,000 by cheque and for the balance issued equity shares of Rs. 100 each   Pass journal entries in the books of AB. Ltd. for the purchase of building and making payment if shares were issued (a) at 10% discount and (b) at a premium of 25%.            










[3]

9. A, B and C started a partnership firm on 1.4.2006 and their profit sharing ratio was 5:3:2.  Their capitals were Rs 40,000 and Rs 50,000 and Rs 10,000.  The partnership deed provides for interest on capital at 12 % p.a.  For the period ended 31.12.2006, the profit before interest amounted to Rs 8,000.  Pass journal entries and prepare P&L appropriation a/c.









[4].


10. Rajesh and Mukesh are partners in a firm sharing profit in the ratio of 2:1. They decide to admit Anil with 1/4th share in profits with a guaranteed amount of Rs. 25,000. Rajesh undertook to meet the liability arising out of the guaranteed amount to Anil The new profit sharing ratio between will be 2:1:1. The firm earned profit of Rs. 76,000 for the year ended March 31, 2001.  

i.   Pass journal entries.


ii.  Prepare Profit and Loss Appropriation Account  









[2+2]

11.a.   400 equity shares of Rs. 100 each issued at a discount of 10% were  forfeited for the non-payment of final call of Rs. 20 per share. The forfeited shares were re-issued for Rs. 38,000 fully paid up. Journalise
     b.   300 equity shares of Rs. 100 each were forfeited for the non-payment of the allotment money     of Rs. 40 per share. The first and final call of Rs. 20 per share was not made. The forfeited shares were re-issued for Rs. 29,000 fully paid up.
Journalise








[2+2]
12. a.  On 1.1.2002,  J Ltd issued 3,000 12% debentures of Rs.100 each at Rs.95 redeemable at par       

             after 4 years and offered the holders the option to convert their holdings into equity shares of  

             Rs.10 each at par after 31.12.2003. On 1.1.2004 40% holders exercised their option. Give the 
             journal entries on 1.1.2004.                                                        
    b. B ltd issued 6,000 5% debentures of Rs 50 each at a discount of 6% redeemable at a premium of        

        4%, payable as follows:

         Rs 30 on application and balance on allotment.    The issue was fully subscribed.  Pass journal  

          entries at the time of issuance of debentures.









[3+3]

13.  From the Receipt and Payment Account given below, prepare the Income and Expenditure Account of Clean Delhi Club for the year ended March 31, 2007.







[6]



Receipt and Payment Account for the year ended 31.3.2007

[image: image1.png] 
Balance b/d



 3,000 







Salary 

1,500

 














Rent 

   800

Subscriptions 


22,500 







Electricity 
3,500

Entrance Fees


  1,250 







Taxes 


1,700

Donations 



  2,500 







Stationery 
   
    380

Rent of hall 



     750 







Sundry expenses      920

Sale of investments 

3,200 







Books  


   7,500
















Govt. bonds  
 10,000
















Fixed deposit  
   5,000

                                                                                                          Balance c/d            1,900




Total    33,200







Total                     33,200
 

Additional information:  Outstanding subscriptions as on 31.3.2006 was Rs. 1,000

14. A, B and C  were partners of a firm sharing profit in the ratio of 4:3 :3. On 31.3.2006

their Balance Sheet was as follows :

Balance Sheet of G, H and I as on 31.3.2006

Liabilities 





Amount 





Assets 


Amount









Rs. 











Rs.

Creditors 





87,000





 Building 

1,70,000

Reserve 






33,000 





Machinery 

1,20,000

Capitals :












 Stock 


   40,000

 














 Debtors 

   45,000


A: 1,05,000 











Cash 

        15,000


B: 85,000


C: 80,000 




2,70,000


Total





3,90,000 









3,90,000

B died on 30.6.2006. Under the partnership agreement the executors of a deceased

partner were entitled to :

(i) Amount standing to the credit of deceased partner’s Capital Account at the

time of his death.

(ii) Interest on capital at 12% per annum,

(iii) His share of goodwill. The goodwill of the firm on B’s death was valued at

Rs. 2,70,000.

(iv) His share in profit from the profit of the firm from the closing of the last

financial year till the date of death on the basis of last year’s profit. The profit

of the firm for the year ended 31.3.2006 was Rs. 2,40,000.

Prepare B’s Capital Account and B’s executors a/c, who were immediately paid half of the amount due.




















[6]
15. Krishna Limited issued 20,000 equity shares of  Rs. 10 share each at a discount of 10% payable as follows:
On Application Rs. 3 per share

On Allotment Rs. 4 per share 

On First and Final Call-  Balance

Over-payments on application were to be applied towards sums due on allotment and first

and final call..

The issue was oversubscribed  by 4000 shares and allotment was made under pro rata basis.
A shareholder holding 400 shares did not pay allotment and call money and his shares were forfeited.   

Give Journal Entries to record the above transactions
.









 (8)

OR

Radha Limited invited applications for issuing 40,000 shares of Rs.10 each at a premium of Rs 2 per share payable as follows:
On Application Rs. 7 per share ( including premium Re 1)
On Allotment Rs. 5 per share ( including premium Re 1)
Applications were received for 50,000 shares. Allotment was made on pro rata basis :

The directors decided to forfeit 200 shares on which allotment money was not received.

Pass journal entries in the books of Radha limited.

16. The Balance Sheet of A , Sand L who were sharing profits in the ratio of 5 : 3 : 2, is given below as on March 31, 2007.

Balance Sheet  As on March 31, 2007

Liabilities 




Amount 



Assets 



Amount








(Rs.) 








(Rs.)

Capitals:









 Land 


4,00,000

A = 7,20,000









Building 

3,80,000

S = 4,15,000 








 Machinery 

4,65,000

L = 3,45,000 


14,80,000 



Furniture 

   77,000

Reserve Fund 


  1,80,000 



Stock 


1,85,000

Sundry Creditors 

1,24,000 



Sundry Debtors 
1,72,000

Outstanding Expresses 
  16,000




 Cash in hand 
1,21,000

Total 




18,00,000 







18,00,000

S  retires on the above date and the following adjustments are agreed upon his retirement.

1. Stock was valued at Rs. 1,72,000.

2. Furniture and fittings were valued at Rs. 80,000.

3. An amount of Rs. 10,000 due from Mr. Deepak, a debtor, was doubtful and a

provision for the same was required.

4. Goodwill of the firm was valued at Rs. 2,00,000.
5. S  was paid Rs. 40,000 immediately on retirement and the balance was

transferred to his loan account.

6. A and L  were to share future profits in the ratio of 3:2.

Prepare Revaluation Account, Capital Account and Balance Sheet of the reconstituted firm. [8}
OR

X and Y are partners in a firm sharing profits in the ratio 2:1. Zis admitted into the firm with 1/4 share in profits. He will bring in Rs. 30,000 as capital. The Balance Sheet of X and Y as on March 31, 2007   was as under:

Balance Sheet   as at March 31,2007

Liabilities 





Amount



 Assets





 Amount

Creditors 





8,000 



Cash in hand 




2,000

Bills payable 




4,000 



Cash at bank 




10,000

General Reserve 




6,000



 Sundry debtors




 8,000

Capitals: X 50,000 








Stock 






10,000



Y 32,000 



82.,000 



Furniture





5,000














Machinery 





25,000














Building 





40,000








1,00,000 











1,00,000

Other terms of agreement are as under:

1. Z will bring in Rs. 12,000 as his share of goodwill.

2. Building was valued at Rs. 45,000 and Machinery at Rs. 23,000.

3. A provision for bad debts is to be created @ 6% on debtors.

4. The capital accounts of X and Y  are to be adjusted by opening current accounts.

Show revaluation a/c, capital a/cs, and  Balance Sheet after Z’s admission.






(8)
Part-B

Analysis of Financial Statements

17. A firm has incurred a gross loss, however it shows a net profit in the profit and loss a/c . How? Identify the reason.




















[1]
18. Interest paid on debentures issued by a banking company. Identify whether it would be an operating, investing or financing activity for the bank.













[1]

19. State any one difference between cash flow statement and profit and loss a/c





[1]

20. B ltd is authorized with a equity capital of Rs 2,00,000 divided into shares of RS 10 each.   It offered to public 12,000 shares.  The public subscribed to 15,000 shares.  The final call of Rs 2 is yet to be made. The first call of Rs 3 on 200 shares was not received.  Show the Share Capital in the balance sheet as per sec. 211 part I schedule VI of companies act.















[3]

21. Prepare a Comparative Income Statement with the help of the following information :



[4]

Particulars 


2006 


2007

Sales Rs. 


Rs. 4,00,000
 Rs. 5,00,000

Cost of goods sold 

     40% 


50%

Indirect Expenses 
      Rs 30,000 

    Rs 40,000

Income Tax 



50% 


50%

22.   a.     Calculate the amount of gross profit:
         Average stock = Rs. 80,000;  Stock turnover ratio = 6 times;  GP = 30 % of sales. 
b.    From the following information, calculate –  (i) Payable Turnover Ratio  (ii) Average Payment Period





( in rupees)

Sales 


8,75,000

Creditors 

   90,000

Bills Payable
 
   52,000

Purchases 

4,26,000

Provision for discount on creditors Rs 2,000

23. From the following balance sheets of ABC Ltd., Find out cash from operating activities only.

[6]

Balance Sheet of Zeal Ltd. as at March 31, 2002

Liabilities 



2001 
2002 



Assets

 2001 


2002

Equity Capital 

10,00,000 
15,00,000


 Land 

9,00,000 



11,00,000

Reserve  



 8,10,000 
10,15,000 


Buildings 
12,50,000 


19,00,000

 10% Debenture 

4,00,000 

6,00,000 



 
Accounts Payable
 
3,20,000 

2,90,000 



Inventory 
2,10,000 



2,15,000

 o/s expenses 


20,000 

65,000 



Bills Receivable1,70,000 


1,85,000

Provision for 










Cash on hand 

25,000 


90,000

taxation 



20,000 

30,000 



Preliminary














Expenses 

15,000


 10,000

Total 



25,70,000 
35,00,000 





      25,70,000

 35,00,000

(i) Additional Information :   A building costing Rs. 9,50,000   was purchased for cash.


[6]
OR
The balances in Equipment account and Accumulated depreciation account as on March 31, 2002 and 2003 are given below :

Balance as at 



March 31, 2002 

March 2003

Equipment 



65,00,00 



       78,70,000

Accumulated depreciation    10,80,000 



16,32,000

   The Equipment costing Rs. 12,30,000 accumulated depreciation thereon Rs. 7,18,000 was sold for Rs. 4,68,000. 

(i) Compute the amount of equipment purchased, depreciation charged for the year and toss on sale of equipment. (ii) How each of the item related to the equipment will be reported in statement of cash flows.
   [6]
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